1.

th2 1Y Zo] BA = BC ¢l o] 5 W47 BAC oA /BAD =
126° 4 o}, /BCA 2] 27]=2

Q

D~ 126°



2. & O"3} 28 AABC oA AB = 5cm , AC = 4em , BC = 3cm
ojal, /C=90° & o, HHL I 9] ¥z 52| Ao]&=?

@D 1lcm @ 2cm ® 3cm @ 4cm ® 5em



M)

el

A P = HPAHY ABCD o Wi o] gt 3
olt}t. HYPAHAT ABCD 9] Hol7t 300]1L
AABP 9] §o]7} 10¥ u], APCD 9] Hol=
gnfQlz] Fopo]at,

5 J=X
=¥

VN,



4.

Ch 2 oA x 9 gh2?




the IHoA ,AHB = /BAC = 90° A
o, o2 5 S A2 A12H?
B T C
@O AB:AC=BH:CH @ AABC o AHAC
® /C = /BHA @ /B =/ACH

® AH =BHxCH



6. che Al

83 ABCD oA BD = 8, CD = 5°]1, ACOD &] Yo7}
69 @, A0 9] %

dolg Fatoft.




7. e 29T 2 BPAEP ABCD oA
AABC = ADCB ¢©]H gABCD = oj® A}
7}0] E)=7) Fofoit,

5 J=X
=¥



o2 I3 ZHe AABCO|A AD:DB=1:1,DO:0C =1":6,
AF : FC = 1: 3°|t}. aAABC2] Wol7} 560 ¥ w], ACOF 2] Ho|=
“Fotof et




9. T 1o WPAAFP ABCD o)A AC //EF ©] 2 ABCF ] Ho]7}
15cm? € o, AACE 9] Ylo]=?

A D
F
B C
@ 15cm? @ 20cm? @ 25cm?

@ 30cm? ® 35cm?



10. oh& TI™lA gAY ABCD o B3 A 7 BC 919 A A’ o
QR HS 0, x 9 g7

A D
r 1
: ¥
| /
I D
E P
/
8
\
B-6-A C

® 12 @ 13 ® 14 @ 15 ® 16



11. o8 284 € = 90° o)1, AC = BC ¢l & zto
ABC 9|4 /A 9] o]58E40o] BC ¢ 7t

11 25
@) ?ch @) gcm2 ©) ECm2
@ 33cm?



12. oh2 I8 22 HAZEY ABCD o)A EG o HF 7t A2 Hzte g

Rt DG = 5, HF = 10 4 o, EG o] o1& Fstefe),

A H p
E

G
Bl C



13. o= Z3olA BaAY ABCD ¢ ¥ BC, CD 9 5482 247
, F 251, AE, AF 7} 124 BD ¢} b= dE& 242 p,
& o, FPAPHY ABCD 2] Yol= oAPCQ 9] Yol & Hjol
T3H?

N

@ 54| @ 458 @ 44 @ 34| ® 2.5H}



14. D;r% 1394 AMBC M A EEAC Y =
o] DC = 2BD ©]t}. ABDF = 4cm? &
o, AABC 9] Ylo|& F5lofzt,

vs)

Q



ohe 471
o

® 5cmd

ol & G, H+= 22 DE, DF

@ 6cmd ® 7cm? @ 8cm?

® 9cm?

C

Iek 4271590 R} e ) A7
,AZHE A - DGH 9] F3]=? m
D G
E



